
ATTENTION !

à l’emplacement prévu sur votre fiche réponse
N’oubliez en aucun cas de recopier votre u0
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T val(T ) T val(T )
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a > 0 b ≥ 1 amod b
a b r 0 ≤ r < b q

a = bq + r
(ui)i∈N u0

i > 0

ui+1 = 1022× ui modm

m = 220 − 3 = 1 048 573

u10 u500 u10 000



n ≥ 1 k ≥ 0 Tn,k

n = 1 Tn,k

n > 1 Tn,k uk+1 mod 2
Ti,k+2 Tn−i,k+2i i = 1+ (uk mod(n− 1))

T10,12 T500,345 T5 000,6 789

Tn,k
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Gn,k val(Tn,k) Tn,k

G10,98 G500,765 G2 000,4 321

val(t) val(t) t

G = (V,E) C ⊆ V
u, v ∈ C u �= v u v G ω(G)

G
G k



t a ∈ { , }
t1 t2

a = ω(val(t)) = max(ω(val(t1)), ω(val(t2)))
a = ω(val(t)) = ω(val(t1)) + ω(val(t2))

ω(val(t))

ω(G100,314) ω(G1000,159) ω(G10 000,265)

(ω(G100,k))k∈{1,...1000} (ω(G1000,k))k∈{1,...1000} (ω(G10 000,k))k∈{1,...1 000}
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n,k Gn,k

T �
100,271 T �

1000,828 T �
10 000,182

G = (V,E) G� = (V �, E �) G � G�

f : V → V � u, v ∈ V {u, v} ∈ E
{f(u), f(v)} ∈ V �

� val(t) � val(t�) t � t� t� � t



k
G8,0 � G8,k G12,0 � G12,k G15,0 � G15,k

{G10,k}k∈{1,...10 000} {G15,k}k∈{1,...10 000} {G20,k}k∈{1,...10 000}

G�
n,k {1, . . . n} i j

i < j u(i+u(k+j))

(G�
4,k)k∈{1,...10 000} (G�

6,k)k∈{1,...10 000} (G�
8,k)k∈{1,...100 000} (G�

10,k)k∈{1,...100 000}
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(G�
4,k)k∈{1,...10 000} (G�

6,k)k∈{1,...10 000} (G�
8,k)k∈{1,...100 000} (G�

10,k)k∈{1,...100 000}

G = (V,E) V � ⊆ V G[V �]
V � u, v ∈ V � G[V �]

G H



V � ⊆ V G[V �] � H G
V � ⊆ V G[V �] �� H G

(v1, . . . vk) v1 vk
1 ≤ i < k vi vi+1

(G10,k)k∈{1,...10 000} (G100,k)k∈{1,...10 000} (G1 000,k)k∈{1,...10 000}
(G10 000,k)k∈{1,...10 000}
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